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Date UWA Mount No. Whose sample? Operator(s)
/4/ o/ 77 G -4 0 45’/ £. fUep) w AR
2079 - 292,
Indicate any change to the following: 196" 204  bkg 206 207 208 248 254 270
Precambrian Count time (secs): 2 10 10 10/2{)’9 30/‘56‘ 10 5 2 =3
Phanerozoic* Delay time (secs): 8 3 1 2 1 1 3 2 2 2
Steel: Wein volts / nA = 721/7/,77 forO7; = /,/-,7(///,7 for Oo7; = 5:3\//25—for NO-
dead-time = ..... 32/ nanosecs expected resolution = >4200 actual resolution = ......................
aperture = .32 microns retardation lens =/00/$‘ volts
Expected off}sets (amu): 196-204 = 8.170; 204-bkg = 0.045; 204-206 ~ 2.000; 206-207 = 1.000; 206-208 = 2.000
Actual: $96-204 = 383 7. 204-bkg =..0.C4 2. 204-206=..2.CC 4 .
206-207 = .4 . EEC. 206208=...2.:882..
MPrimaw-epoxy = 2'57 nA Primary-CZ3= ...... 55 nA PESABM-CZ3 = 58 pA
76‘#{;71&* ‘ Raster time (mins): Z .......... Raster aperture (microns): ....... / a() ....... No. of scans: ......... é’ ........
i
& Comments: Rudids st+d = "\/v H= zéezia
> [%n 0 g A \ S Lonadamid MU
w07.% Y8t
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